
irsim example: Two to one multiplexer

GaLe )ource Drain Lenath and width
,/ ,/ ,/ ./

t{ tl tl t(
p S Vdd M SMux2 SBar 2 4

Commenls

,
I Auto-qenerated 'sim' format netlist
I Instance M of component 2:I mul-tiplexer (static AND/OR)

n S GND M SMux2 SBar 2 2

nAMSVux2ACNn22
n M SMux2 Sear M SMux2 AOut M SMux2 A 2 2
n A Vclcl t'l sltux2 EOut 2 4v
p M_sMux2 SBar VaO M_SMux2_Aout 2 4

nBMSMux2BGND22
n S M_SMux2_BOut M_SMux2_B 2 2

D B Vdd M SMUX2 BOUI 2 4

p S Vdd M_SMux2_BOut 2 4

n M SMux2 AOut M SMux2 C GND 2 2

n u St'tux2 BOut O[t M SMux2 C 2 2

p M SMux2 AOut Vdd Out 2 4

p M SMux2 BOut VdC Out 2 4

\I Fnd n€ nat- Ll51 \| lrrv 
vdd and GNo are sLandard namee



Two to one multiplexer test file (2)

I Test of one bit multiplexe

NodeE Lo waLch (Lrace and dioplay valuee)
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Two to one multiplexer test run (3)

UnixrM command line

L6
*** IRSIM version 8.5 ***
12 nodes; transistors : n-channel:7 p-channel:7

I I ^'l +.,]-IJd.rd-rrer LXLors : none
irsim) G mux2l.test.
S:O A:O B:O OUI:O \
+-..i -^ rnn n*^ \-
L rltte .i-u u . uns |efiorm ir1im command file
s:0 A:1 B:0 0ur:1
ti-me 200.Ons
s:0 A:0 B:0 0ur:0
time 30O.Ons
5:U A:U u:I UUL:U
time : 40O.Ons
S:1 A:0 B:1 Out:1
time : 500.Ons
s:l A:0 B:0 0ur:0
time 600.Ons
5:I A:l u:U UUt:U
time 700. Ons
s:l A:1 B:0 0ur:0
time 800. Ons
S:O A:1 B:O CUt:1
time : 900.Ons
s:0 A:0 B:0 0ur:0
time 1000.Ons \irsim) q \^,-r L Dioplay war,ched nodee atier each eLepn
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